GOVT. OF JAMMU AND KASHMIR



M/S NEW WANI AND BRORHERS. NAME:NAZIR AHMAD WANI. S/O:AB.WAHEED WANI R/O:.SHUMANAGH TREHGAM KUPWARA

Registration No: 929/AAY/Civil/Sanitary)CE/KCC/PDC/2009-10. GSTIN NO: 01ACBPW3482F2ZR

ALLOTMENT ORDER NO:-DSE/HH/DB OF 2022-23 DT 20/01/2023

Laying and Fitting of Pipe Network, Dug Well, Headworks, Intake Chambers, Chain Link Fencing, Approach Road, Chowkidar Quarter, MS Boxes for Sluice Valves, Anchor Blocks, Repairs to Existing Structures under JJM for WSS Cherkote Kanthpora B Putshai.

Ref: -

1. Minutes of the 8th meeting of Technical Appraisal Committee held on 08.02.2022, minutes

issued thereof vide CE/PHE/44620-41 dated. 12.03.2022. 2. Minutes of the 4th & 5th meeting of Apex Committee JJM J&k circulated under endorsement NO:

B. Accord of Administrative Approval vide Chief Engineer Kashmir PHE Deptt. Srinagar's Order No.

4. District Action Plan of District Kupwara by DJJM vide No. DDCK/Plg/JJM/4465-85 dated. 14.07.2022

5. Govt. Order No. 19-JK (JSD) of 2022 dated. 04.02.2022

6. Technical Sanction Order No. CE/PHE/DB/150 of 08/2022 dated. 25.08.2022

7.District Development Commissioner Kupwara's Authorization No. DDCK/Plg/JJM/MoM 11004-14, Dated: 13/12/2022 vide endorsement No.: DDCK/Plg/JJM/11015-31dated.

13.12.2022

"Allottment"

Advertised cost: - Rs: 217.12 LACS Rs: 219.30 LACS Allotted cost: -

For and on behalf of the Lt. Governor of Jammu and Kashmir UT, contract for Laying and Fitting of Pipe Network, Dug Well, Headworks, Intake Chambers, Chain Link Fencing, Approach Road, Chowkidar Quarter, MS Boxes for Sluice Valves, Anchor Blocks, Repairs to Existing Structures under JJM for WSS Cherkote Kanthpora B Putsha is hereby fixed with you on the accepted rates by you as shown in the enclosed Annexure of this allotment. The total cost of the work will be of the order of Rs. 219.30 LACS(Rupees Two Crores Nineteen lacs and Thirty Thousand Rupees Only) on the terms and conditions as laid down in E- NIT No: 15 of 6/2022-23 Dt. 27/06/2022 issued under endorsement No PHEDK/1053-66 Dt: 27/06/2022 from the Executive Engineer PHE Division Kupwara shall be binding on the contractor.

shall be i	officing off the contractor		7	Data	Amount
S.No	Item Description	Quantity	Units	Rate	Amount
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 min width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: (1 Mtr from	baj		426.00	2586422.00
. /	cutting edge)	5932.16	CUM	436.00	2580422.00
i	All sorts of soil				

2	Earth work in bulk excavation by manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge				
1	All sons of soil	705.00	CUM	539.35	380242.00
ii	Ordinary rock	845.00	CUM	855.65	723024.00
3	Extra for every additional lift of 1.5 m or part thereof in excavation/banking excavated or stacked material				
i	a) All sorts of soil	418.76	CUM	81.65	34192.00
ii	b) Ordinary Rock	489.00	CUM	146.45	71614.00
	Providing of Laying of dry stone soling hand packed on level	133.94	CUM	1320.00	176801.00
	Supplying and filling in plinth with fine sand under floors including, watering, ramming, consolidating and dressing complete	38.00	CUM	787.40	29921.00
6	Centering and shuttering including strutting, propping etc, and removal of form for.		6014	262.30	231071.00
	Foundations, footings, bases of columns etc for	880.94	SQM		231071.00
ii \	mass concrete. Walls (any thickness) including attached bilasters, buttresses, plinth and string courses	403.03	SQM	573.85	231279.00
iii S	etc. Suspended floors, roofs, landings, balconies	114.75	SQM	635.60	72935.00
iv	and access platform. Columns, pillars, piers, abutments, posts &	17.04	SQM	680.15	11590.00
) S	Struts. intel, beams, plinth beams, girders,	72.87	SQM	502.85	36643.00
V L	ressumers and cantilevers.	157.00	SQM	2086.80	328880.00
vi A	rches, domes, vaults upto 6 m span	157.60 157.60	SQM	1007.45	158774.00
	xtra for arches, domes, vaults exceeding 6 m ban dges of slabs and breaks in floors and walls	151.60	RM	242.30	36733.00
ur	odges of slabs and bleaks in floore days ander 20 cm wide attra for shuttering in Circular work 20% of asic respective centering and shuttering				
	ms.	43.36	SQM	52.46	2275.00
i Fo	undation	201.43	SQM	114.77	23118.00
ii Wa	ills	39.17	SQM	100.57	3939.00
	ams		SQM	417.36	15476.00
	mes	37.08	JOHN		
Pro con	viding and laying in position cement crete of specified grade including curing				
4.4.0	tering. All work upto plinth level with	41.66	CUM	4861.84	202544.0
1	e aggregate 40 mm nominal size) (1 cement : 3 coarse sand : 6 graded	125.00	CUM	5437.7	679718.
1		5.06	CUM	6465.2	0 32714.0
1 0 1	(1 cement : 2 coarse sand : 4 graded aggregate 20 mm nominal size)				

TO OT



-				tag sedagandak	
9	Providing and laying in position specified grade of reinforced cement contact and specified		Park mot respectively agree	er e Aramada erin basar arappan erin b	
	grade of reinforced cement concrete		T		
	including curing the strict concrete				
	centering, shuttering, finishing and		1		
	reinforcement All "Instilling and				
-	1:1½:3 (1 company works upto plinth level	(4)			
	stone aggregate 20 - Codise sand : 3 graded	120.69	CUM	7800.76	044474.00
- 11	1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	120.00	00,		941474.00
	stone aggregate 20 coarse sand : 4 graded	5.00	CUM	6978.68	2.1000.00
10	stone aggregate 20 mm nominal size)	,0,00	00	33,3,3	34893.00
	(any thickness) including attached	, ,	1		
			1		
	courses, fillets, columns, pillars, piers, abutments, posts and string	1	1		
	level including curing but excluding cost of				
	centering shuttering, finishing and reinforcement.				
	Tomorodillerit.				
,	1:11/2:3 (1 cement : 11/2 coarse sand : 3 graded	58.89	CUM	9408.14	554045.00
11	stone aggregate 20 mm nominal size)				
1,1	Reinforced cement concrete work in beams,				
	suspended floors, roofs having slope upto				
	15°,landings, balconies, shelves, chajjas,		1		
	lintels, bands, plain window sills, staircases		1		
	and spiral stair cases upto five level		1		
	including curing but excluding the cost of		1		
	centring, shuttering, finishing and		1 .		
	reinforcement with		01114	9849.35	
i	1:11/2:3 (1 cement : 11/2 coarse sand : 3 graded	24.94	CUM	9049.55	245643.00
	stone aggregate 20 mm nominal size)		-		
12	Reinforced cement concrete work in arches,				
	archribs, domes, vaults shells, folded plate				
	and roofs having slope more than 15° upto		1 1		
	floor five level level including curing but		1		
	excluding the cost of centering, shuttering		1 1		
	finishing and reinforcement with:		2110	10404.52	
	1:11/2:3 (1 cement : 11/2 coarse sand : 3 graded	17.82	CUM	10404.02	185409.00
	stone aggregate 20 mm nominal size)	1 76		409.81	V
13	Providing and laying damp-proof Course 50	40.00	SQM	409.01	
13	mm thick with cement concrete 1:2:4 (1				16392.00
	cement:2 coarse sand: 4 graded stone				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	aggregate 20 mm nominal size) and curing				
	1			E4E 22	
	Making plinth protection 50mm thick of	64.16	SQM	545.22	
14	cement concrete 1:3:6 (1 cement : 3 coarse				
	cement concrete 1:3:6 (1 cement : 0 con-				
	sand :6 graded stone aggregate 20 mm		1 .		34981.00
·	nominal size) over 75mm bed of dry brick				
- 1	ballast 40mmnominal size well rammed and		,		
- 1	consolidated and grouted with tine sailu				
	including finishing the top smooth and				
	curing complete	17010.00	KG	95.10°	
15	Reinforcement for R.C.C work including	15010.00	7.0	33.13	
10	straightening cutting, bending, placing in		1		1427451.0
	straigntening cutting, bending, planting in		1 2	7	
	position and binding all complete, Thermo-		1		
	Mechanically treated bars.	220.00	KG	57.90	-
	E-tra for providing and mixing water	220.00	"		12738.00
-	proofing material in coment concrete work		,		12/30.00
1 1	on doses by weight of cement as per				44
	featuror's specification.				
1 12	Brick work with common burnt clay (non-		,	41	ef,
			1	1	
-	Brick Work Will common barrier 7.5 in				1
7 B	heighe of class designation (12 "				
7 B	nodular) bricks of class designation 7.5 in bundation and plinth including curing in ement mortar 1:6 (1 cement : 6 coarse sand)	44.00	CUM	6802.13	299294.0

VS OT

DSÉ

18	Extra for brick work in support			A CANADA SAN SAN SAN SAN SAN SAN SAN SAN SAN SA	TO THE PERSON NAMED IN COLUMN TWO
	Extra for brick work in superstructure above plinth level upto floor V level. (By manual	34.00	CUM	1456.02	49505.00
19	Random Rubble masonry with hard stone from qyarry in foundation and plinth including levelling up with cement concrete 1:6:12 (1 Cement: 6 coarse sand: 12 graded stone aggregate 20mm nominal size) upto plinth level with cement mortar 1:6 (1 Cement: 6 coarse sand)	4.52	CUM	4878.78	22052.00
20	stone in foundation and plinth, using quarry	19.14	CUM	2747.25	52582.00
21	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or with dash fasteners shall be paid for separately):				,
i	First class kail wood	1.80	CUM	106894.15	192409.00
22	Providing hoisting and fixing trusses/purlins /rafters/posts/ post-plates or like components including cost of screws etc. complete	1,00	33.11		.02.100.00
ii	First class Budloo/Fir wood	7.00	CUM	138685.40	970798.00
23	Providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40 mm thick				
i	First Class kail wood	12.00	SQM	2501.75	30021.00
24	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineer-in-charge. (Note: -Butt hinges and necessary screws shall be paid separately). (35mm thick)			0000000	
i	First Class kail wood	14.00	SQM	3093.80	43313.00
25	Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of				
- 1	Engineer-in-charge : (35 mm)	32.86	SQM	3651.65	119993.0

JHD HD

W OT

SE

	Providing and fixing aluminum sliding door bolts ISI marked anodized (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade with nuts and screws etc. complete						
i	250x 16 mm	10.00	No.	229.9	0	2200 00	-
27	Providing and fixing aluminum tower bolts ISI marked anodized (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade with necessary screws etc. complete	10.00	NO.	223.5		2299.00	
ì	200x10mm	20.00	No	89.2	20	1784.00	
ìi	100x10 mm	96.00	No	57.		5506.0	
28	Providing and fixing aluminum handles ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour and shade with necessary screws etc. complete	50.00				3000.0	
i	150 mm	20.00	No	66	.35	1327	.00
ii	100 mm	60.00	No.	57	2.30	3138	.00
29	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete	60.00	KG		9.30	595	3.00
30	Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete Welded	3689.24	KG		11.42	4110	055.00
31	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using MS angles 40 x 40 x 6 mm for diagonal braces	7.56	SQN		5899.02		1592.00
32	Providing and fixing M.S. grills/Ornamental of required pattern in frames of windows etc. with M.S. flats, square or round bars etc including priming coat with approved steel primer all complete Fixed to openings / wooden frames with rawl plugs screws etc	550.00	K	G	215.88		118734.00
33	Cement concrete flooring 1:2:4 (1cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry and curing complete, but excluding the cost of nosing of steps etc. complete						
	50 mm thick with 20mm nominal size stone	80.00		SQM	555	5.50	44440

					-	
-		and the same of th	de la		Total Control	
34	Providing corrugated G. S. sheet roofing including vertical/curved surface for			Charles and the		
7	including corrugated G. S. sheet roofing polymer coated J or L hooks, botto and the same discount of the coated by the same discount of	110.00	SQM	951.80		
	8mm diament of L hooks botto		Jaivi	851.60		
	8mm diameter with bitumen and G.I limpet with white lead, including a cost of		,			
			1			
	approved exert . """ a coat of		1		1	2
	approved maint will two coats of		1			
1	Complete /		1		10469	00.88
	horizontal/vertical or curved				1	1
	surface) excluding the cost of purlins, rafters		1		.	
	and trusses and including cutting to size		1			
47	with zinc coating not lead 0.63 mm thick		1			1
35	Providing ridges on bloom than 275 gram/m2					
		40.00	RM	691.75		
	polymer coated J. or L hooks, bolts and nuts 8mm dia G. J. Ilmand III	,				1
					270	670.00
	The complete of the think with all a				1	
36						Pr. 1 1 2 2
00	1 TOVIGING 40X5 mm flat Iron hold feets 40	40.00	No.	163.04		
	On 1019 including fixing to frame with 10				1	
	mm dlameter bolts, nuts and wooden plugs and embeddings in cement concrete block				\ 6	3522.00
	30x10x15 cm 1:3:6 mlx. (1 cement: 3 coarse			1	1	
	sand : 6 graded stone 20 mm nominal size).				1	
37	Providing and fixing plained eaves	45.00	RM	1587.9	90	
	boarding.2nd class kall wood 300x40 mm	, 5.00			1	71455.00
	(nominal size)					
38	12mm Cement plaster of mix:					
i	1:4 (1 cement: 4 fine sand)	635.34	SQM	286.	06	181745.00
39	15mm Cement plaster on the rough side of				1	,
	single or half brick wall of mix:				40	
i	1:6 (1 cement: 6 fine sand)	294.36	SQM	306	.40	90210.00
40	12mm Cement plaster of mix:			000	06	0.4050.00
i	1:4 (1 cement: 4 coarse sand)	119.73	SQM	286	5.06	34250.00
41	12mm Cement plaster finished with a			1	1	1
	floating coat of neat cement of mix:	101.10	5014	27	8.13	195720.00
i	1:3 (1 cement: 3 fine sand)	491.18	SQM	31	0.10	185730.00
42	20mm cement plaster finished with a					1
	floating coat of neat cement of mix	004.70	904	A A	65.47	151147.00
i	1:4(1 cement: 4 fine sand)	324.72	SQN		59.35	151147.00
43	Applying one coat of water thinnable	213.54	Sul	v' '		12674.00
	cement primer of approved brand and		1			
	manufacture on wall surfaces	1====		NA -	91.80	
44	Finishing walls with water proofing cement	137.00	SQ	IVI	91.00	12577.00
	paint of required shade on New work (two or			1		12077.00
	more coats applied @ 3.84 kg/10sqm				404.05	
15	Painting with synthetic enamel paint of	80.00	SC	lΜ.	121.95	0750.00
15	approved brand and manufacture to give an					9756.00
	approved brand and mandactare to give an					
	even shade Two or more coats on new work	308.46	S	MC	129.50	
6	Providing and applying white cement based	300.40				
	putty of specified thickness, of approved	1				39946.0
1	brand and manufacturer, over the plastered			77		333 .310
- 1	wall surface to prepare the surface even and		×			\\
	smooth complete 1 mm thick			100		in the
	Sillooni combiere i min anov			100		

TO

47	Painting wood work with deluxe multi	The second second second			
	required shade. Two or more coats applied under coat of primary			Control of the Contro	A CONTRACTOR OF THE PROPERTY O
	required shade T.	80.00	SQM	10-	
	@ 0.90litre/10sqm over an	90100	SUM	125.50	
	under coat of primer applied @				
	0.75litre/10sqm of approved brand and				
	of an applied @				10040.000
					10040.000
48	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100 mm				
	pan / India did fixing water ele-				
	pan (Indian type W.C. pan) with 100 mm Sand cast Iron P or Strap, 10 litre low level (of approved to the strap of the stra	2.00			
	Sand cast Iron P or St. Pan) with 100 mm	2.00	No.	3690.25	
	P.V. C. flushing o'cate, 10 litre low level				
	(of approved mail of including flush min				
	P.V. C. flushing cistern including flush pipe device (handle lever) conforming to IS:7231, including authors and fixtures complete.				
	with all findle lever) conforming controlled			-	
			3		7380.00
	ally lionre what walls walls				
	white vitreous china W.C. pan of size				
	580 v440 china W.C. nan of alern			,	
49					
40	580x440 mm with integral type foot rests.			· ·	
	levels) polyothyla in terrace (at all floor	2000.00	1 11	44.55	
	12701 marked, with cover and sultable locking arrangement and market.	~000.00	Litres	11.25	
	locking with cover and sultable				
	locking arrangement and making necessary				
	holes for inlet, outlet and overflow pipes but				22500.00
	without fittings and the base support for				
1.1	tank tile base support for				
50	Providing 8 5 1				
	Providing & fixing PVC pipe Grade B along with all PVC bends. Took SAP to	50.00	RM	E00.00	
	with all PVC bends, Tees, S&P traps fittings,	00.00	KIVI	500.00	
					25000.00
	100mm/75 mm dia			,	
51	Providing and fixing white vitreous china				
	pedestal for wall to	2.00	No	1449.35	
	Podesial IOI Wash nagin completely				
	recessed at the back f. or the recention of		1		2899.00
	T pipes and fittings				
52	Providing and fixing C.P. brass angle value	4.00	No.	F20.40	
	for basin maxier & geaser points of	4.00	NO.	536.10	
	approved make conforming to 10 , cont				2144.00
	approved make conforming to IS: 8931			1	2177.00
	(15mm nominal bore)			and the second second	
53	Providing and fixing C.P. brass bib cock of	10.00	No.	436.50	
	approved quality conforming to IS: 8931 (15				4365.00
	mm nominal bore)			* 1	1000.00
54	Providing and fixing ball valve (brass) of	10.00	No.	438.85	
-	approved quality complete 15 mm nominal	10.00	INO.	430.00	4000.00
	bore			A V	4388.00
55			1		
55	Providing and fixing C.P. brass close hole	8.00	No.	2207.60	
	basin mixer piller tap of approved quality			1	17661.00
	and make, weighing not less than 1.970 kg.			7 .	
56	Providing and fixing G.I. pipes complete		7	1.	,
	with G.I. fittings and clamps, including		1	i i	. 3
	cutting and making good the walls etc				
			* =		
	Concealed pipe including painting with anti				1
	corrosive bitumastic paint, cutting chases			7	
. 1	and making good the wall			93 13 - 13 - 13 - 13 - 13 - 13 - 13	
į	15 mm dia. nominal bore	62.00	RM	474.21	29401.00
57	Providing and fixing toilet paper holder (C.P	2.00	No	500.00	1000.00
	Brass)				1000.00
58	Providing and fixing Salem Stainless Steel A	2.00	No	4575.20	1 T. W. 1 T. 1
	ISI 304 (18/8) kitchen sink as per I.S. 13983				(6) and
	with C.I. brackets and stainless steel plug 40				
					045000
	mm including painting of fittings and				9150.00
	brackets, cutting and making good the walls				
	wherever required 610x510mm bowl depth				
	200mm		377.7	The state of the s	1





59	aink or week to the for waste nine for	10.00	RM	80	0.00				
60	fiftings committee moraling PVC waste	10,00	1300			600.00)		
00	L/M.S. bracket fixing wash basin with C.	2.00	No.	35	92.20			ALI THE	Territor.
	32 mm C D Land O.F. Drass pillar tans						\	3.1	
	cutting and making and brackets,				1	7184	00		
	required white will good the walls wherever	1			\	7104			
	brass pillar tape.				. \			\	
61	Providing and Flying	2.00	No.	1-1-	7000.00			+	
	(Geyser) of 35 Litres Capacity of 2000 Watt Wattage of standard make	2.00	140.	1.	7000.00	3400	00.00	1	
62	Providing and fixing DVC March	2.00	No	-	500.00			\dashv	1
		2.00	140		500.00	10	00.00	1	
	arrangements and carriage by all means complete job					"	••••	1	
63	Dismantling wood work in frames, trusses	3.50	CUM	+	3168.75	1		7	
	purins and rafters upto 10			1		11	091.00	\	
	meters span and 5 meters height including			1				\	
64	stacking the material within 50 meters lead Dismantling old plaster or skirting, raking	301.52	SQN	1	35.35	1			
	out joints and cleaning the	001.02				\ .	0.659.0	0	
	surface for plaster including disposal of			1			10000.0	\	
	rubbish to the dumping ground within 50 meters lead.							$\overline{}$	
65	Laying & fitting of G.I. pipes complete with			1				/	
	G.I. fittings excluding trenching and refilling etc. (external work) Light								
i	125mm dia	124.00	R		118.4				1
ii	100mm dia	3000.00		M	118.4		35541		4
iii	80mm dia	3600.00		M	80.3		28929	93.00	4
iv	65mm dia	3870.00		M	44.8			78.00	\dashv
V	50mm dia	11430.00		RM RM	44.8			960.00	\dashv
vi	40mm dia	4500.00		RM	33.			320.00	$\overline{}$
vii	25mm dia	6000.00		RM		.28	1	8240.00	-
viii	20mm dia	8000.00		RM		.28	-	5960.0	_
ix	15mm dia	7000.00		13101			+		
66	Providing & fixing 12mm MS flanges		1						
	(welded) to GI pipes incl, cost of cutting of threaded portion, cost of nuts, bolts, rubber						1		
	Incortion & testing commissioning (even		1		\		1	٠.	
	pipe cost and earthwork, laying fitting and		1			ų.			
	carriage) complete Job	20.00	-	Joir	nt -	700.00	1	1400	0.00
	125mm Dia			Joi	"	550.00		2706	
	100mm dia	492.0				500.0			00.00
	80 mm dia	600.0	00	Joi	-		+	3000	
,	Making connection of G.I. distribution				1				
	branch with G I main of following sizes by		1		1				
	providing and fixing Tee, including cutting				\				
	and threading the pipe etc. complete					732	88	15	7569
1	25 to 40 mm nominal bore	215.			10.		5.63	-	1869
	CALLY IN THE PROPERTY OF THE P	30.0			No.	4 3 (7)	n h 1	· A	שאער



68	Filling available ave			The state of the s	
	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundation etc. layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering lead upto 50m and lift upto 1.5m.	5449.80	CUM	198.70	1082875.00
69	P/F of MS fabricated boxes for safeguard of sluice valves size 0.50x0.50x0.60 using	10.00	No.	12000.00	
70	concrete work				120000.00
	Fabricating of bends of required degree, tees, reducers incl, welding cutting of pipes, testing & commissioning complete Job.				
i	125 mm dia	2.00	No.	1500.00	3000.00
ii	100mm dia	14.00	No.	1400.00	19600.00
iii	80mm dia	18.00	No.	1300.00	23400.00
71	Dumping of stones incl, cost of stones in horizatal in level	363.40	CUM	616.15	223909.00
72	Constructing vertical bunds with sloping faces, by boulder filling (dry, hand packed tightly); including cost of stones but excluding cost of wirecrates	268.76	CUM	2073.55	557287.00
73	Providing & fixing B.A wire crates (16'x16') 100x100mm mesh with both end plain as per proper and standard specification as per requirement of site & directions of Engineer In-Charge.	975.46	SQM	350.00	341411.00
74	Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-incharge. (Made of G.I. wire of dia 4 mm)	273.00	SQM	733.50	200245.00
75	Providing and fixing of Electrical points (heating and lighting) incld. cost of wire switches, necessary MCB's switch boards, ceiling roses reputed make ISI mark screws, casing / conduit materials of allsorts of carriage and labour charges required for the job.				a i i i i i i i i i i i i i i i i i i i
i	a. Lighting points.	20.00	No	1050.00	21000.00
ii	b. Heating points.	6.00	No	1400.00	8400.00
76	Supplying and stacking at site excluding carriage				
i ,	Graded crushed stone aggregate of size 90 mm - 45 mm	225.00	CUM	492,75	110869.00
ii	Graded crushed stone aggregate of size 63 mm - 45 mm	168.75	CUM	564.60 575.30	95276.00
iii 	Graded stone aggregate atsite of size range 53mm- 22.4mm	112.50	CUM	504.40	64721.00
iv	Stone Screening of 13.2 mm nominal size	40.50			20428.00
٧	Stone Screening of 11.2 mm nominal size	40.50	CUM	504.40	20428.00
vi	Stone Dust	40.50	CUM	258.25	10459.00
77	Supply and fitting of pipe specials as per relevant IS 1239 (Part 2) specifications				
- i	15 mm dia GI elbows	70.00	No.	22.00	1540.00



₩ TO



						The second secon
		ii 20 mm dia G.I elbows	80.00	No.	39.00	3120.00
	1	iii 25 mm dia G.I elbows	60.00	No.	54.00	3240.00
,		V 40 mm dia G.I elbows	45.00	No.	115.00	5175.00
	1	V 50 mm dia G.I elbows	114.00	No.	205.00	23370.00
	V	fi 65 mm dia G.I elbows	39.00	No.	322.00	12558.00
	V	ii 80 mm dia G.I elbows	36.00	No.	432.00	15552.00
	Vi	ii 20 mm to 15 mm G.I. sockets (reducing)	80.00	No.	24.00	1920.00
T	ix		60.00	No.	30.00	1800.00
T	×	The second secon	45.00	No.	55.00	2475.00
	xi	The state of the s	114.00	No.	90.00	10260.00
	xii	15 mm G.I. Tee (equal)	140.00	No.	32.00	4480.00
	xiii	20 mm G.I. Tee (equal/reducing)	160.00	No.	54.00	8640.00
	xiv	25 mm G.I. Tee (equal/reducing)	120.00	No.	72.00	8640.00
	ΧV	40 mm G.I. Tee (equal/reducing)	90.00	No.	145.00	13050.00
-	xvi	50 mm G.I. Tee (equal/reducing)	229.00	No.	230.00	52670.00
-	xvii	65 mm G.I. Tee (equal/reducing)	77.00	No.	408.00	31416.00
-	xviii	80 mm G.I. Tee (equal/reducing)	72.00	No.	572.00	41184.00
-	xix	15 mm nominal bore G.I Unions	70.00	No.	67.00	4690.00
-	XX	20 mm nominal bore G.I Unions	80.00	No.	115.00	9200.00
	xxi	25 mm nominal bore G.I Unions	60.00	No.	150.00	00.000
-	xxii	40 mm nominal bore G.I Unions	45.00	No.	267.00	12015.00
		50 mm nominal bore G.I Unions	114.00	No.	344.00	39216.00
	xxiii	65 mm nominal bore G.I Unions	39.00	No.	549.00	21411.00
	(XİV		36.00	No.	634.00	22824.00
,	KXV	80 mm nominal bore G.I Unions	70.00	No.	30.00	2100.00
11.7	xvi	15 mm G.I Nipple of length 3", 4" and 6"	80.00	No.	40.00	3200.00
X	(VII	20 mm G.I Nipple of length 3", 4" and 6"	60.00	No.	60.00	3600.00
XX	viii	25 mm G.I Nipple of length 3", 4" and 6"	45.00	No.	90.00	4050.00
XX	ix	40 mm G.I Nipple of length 3", 4" and 6"	114.00	No.	125.00	14250.00
XX	x	50 mm G.I Nipple of length 3", 4" and 6"		No.	275.00	10725.00
XXX		65 mm G.I Nipple of length 3", 4" and 6"	39.00	KL KL	155.55	10.20.00
78	- 1	Pumping out water caused by springs, tidal or river seepage, broken water mains or drains and the like	4200.00	KL .		653310.00
79		Carriage of materials from source upto				
	- 1	unloading and stacking (subject to actual) Soling by an avg lead of 10 Kms	133.94	CUM	330.42	44256.00
<u>i</u>			318.33	CUM	545.28	173579.00
ii	4	Omm course aggregate for av lead of 30kms	444.93	CUM	501.65	223199.00
iii		Omm course aggregate for avg lead of 30kms	268.26	CUM	700.37	187881.00
iv		and for avg lead of 50 km	23.66	CUM	903.93	21387.00
V		uarry stone by an avg lead for 25 kms	22000.00	No	3.85	84700.00
/i		icks for 125 kms	141.39	MT	357.64	50567.00
ii	Ce	ment by an average lead of 20 km	141.38	1911	337.04	1 00007.00

	VIII	ТМТ Вара Бу до	en er generaliste is lage der senten er		nana pana ana ana ana ana ana ana ana an	
	AND DESCRIPTION OF THE PARTY OF	TMT Steel by an average lead of 20 km	15.01	MT	357.64	5368.00
	X	125 mm DI/GI pipes by an av lead of 20 km	124.00	RM	11.74	1455.00
	X	100 mm DI/GI pipes by an ay lead of 20 km	3000.00	RM	8.79	26370.00
		km	114.81	MT	357.64	41061.00
	80	Carriage of materials by Manual Labours from Dumping Site Upto working site incl, loading, unloading and stacking for an average lead of 750 meters (Subject to Actual at site)				
-	mara minimi diki dikindan da sakas	Soling	133.94	CUM	541.98	72593.00
		40mm course aggregate	318.33	CUM	498.04	158541.00
1000		20mm course aggregate	444.93	CUM	460.70	204979.00
	İV	Sand	268.26	CUM	460.70	123587.00
	V	Quarry stone	23.66	CUM	541.08	12802.00
	vi	Bricks	22000.00	No	0.86	18898.00
	vii	Cement	141.39	MT	468.17	66195.00
	viii	TMT Steel	15.01	MT	371.28	5573.00
	ix	125 mm DI/GI pipes	124.00	Ton	14.73	1827.00
***************************************	X	100 mm DI/GI pipes	3000.00	Ton	12.04	36120.00
	xi	DI/GI pipes below 100 mm	114.81	RM.	797.55	91567.00
	81	Providing and Fixing of Sign Board (8'-0" x 6'-0") with Jal Jeevan Mission Logo (1'-5" x 2'-0") at a conspicious location strictly as per sample in Annexure - 8 in Margdarshika published by ministry of Jal Shakti. Thie Sign Board shall shall be of flex type supported on 50x 50 x 6 mm ISA fixed in 1:3:6 mix of Plain Cement concrete Blocks of Size 1'-0" x 1-0"x 2'-0"	1.00	Job	10000.00	10000.000
TOT	AL IN I	FIGURES				21712952.00
		h	1			217130.00
Add	1%(опе,	on all above items				21930082.00
GRA!	VD TOI	CAL				

Head Draftsman

District Superintending Engineer

A Terms and Conditions: -

The contractor shall draw agreement with the Superintending Engineer Hyd. Circle Kupwara H.Q Handwara within 07 days from the date of issue of allotment order and failing to execute such an agreement in time shall not however prevent this contract being enforced against the contractor and the conditions laid down in the NIT shall hold good even before drawl of formal agreement.

The work shall have to be executed strictly in accordance with the approved proposals and The date of start of work shall be reckoned from 07 days after issuance of allotment. It shall be mandatory for the shall be reckoned from 07 days after issuance of allotment. 3.

It shall be mandatory for the executing agency/ contractor to ensure safe and adequate supply of electricity required for all the workmen skilled/ unskilled deployed at site of work. 5.

Suitable arrangements for supply of portable water at site of work for all the workmen skilled/ unskilled be made by the agency/ contractor just before the virtual start of execution at site. 6. Arrangements for sufficient sanitation facility at site be ensured by the executing agency contactor for all the modern sanitation facility at site be ensured by the executing agency

contactor for all the workmen to be mobilized at site besides, separate toilet facilities be provided for Female workers at the site of work. Performance security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with his security equivalent 03% of the value of the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in accordance with the contract Rs. 657902/- valid in acc 7. accordance with bid condition shall have to be furnished by you in shape of CDR/FDR/BGR within one week of the distance of the time of signing of

within one week of the date of issuance of allotment order or at the time of signing of Insurance cover as admissible under rules shall be provided to all workers/ skilled/unskilled deployed at aits admissible under rules shall be provided to all workers/ skilled/unskilled

deployed at site and the necessary premiums shall be borne by the executing agency/ contractor 9. Payments are subject to the recommendation of the third party verification agency (M/s. WAPCOS

B. Time of completion

The works shall be completed within a period of (150 Working Days) after the date of issue of allotment. In the event of the contractor failing / declining / neglecting / delay in the execution of the work, penalty to the extent of 10% of the allotted amount shall be imposed on the contractor and the work shall be got executed departmentally or through any other agency at the risk and extra cost of the above contractor. Besides action under rules for black listing of the contractor shall be taken up by the Department.

C. Earnest Money The CDR BEARING No:3137717 Dt: 18/07/2022 for Rs. 438200 lacs IN JK BANK BRANCH HYHAMA-0135. (FOUR LACS THIRTY EIGHT THOUSAND & TWO HUNDRED RUPEES ONLY) Pledged to the { EXCUTIVE Engineer (PHE) JAL SHAKTI DIVISION Kupwara } shall be retained in the Office till successful completion of the above work after the expiry of the defect liability period.

D. Advance payment

No mobilization advance or advance payment shall be made to the allottee (contractor).

E General

8.

All other conditions as laid down in E- NIT No: 15 of 6/2022-23 Dt. 27/06/2022 issued under endorsement No PHEDK/1053-66 Dt: 27/06/2022 from Executive Engineer PHE Division Kupwara shall be binding on the contractor.

No: DSE/HH/DB/ 4097 - 4100 Dated: - 20 /01/2023

District Superintending Engineer,

Hydraulic Circle Kupwara HQ Handwara

Copy to the: -

Chief Engineer Kashmir PHE Department Srinagar for favour of information. 1.

District Development Commissioner (Chairman DJJM) Kupwara for favour of information. 2.

District Nodal Officer WAPCOS Ltd. (Distt. Kupwara) for information. 3. Executive Engineer PHE Division Kupwara for information and necessary action.

Head Draftsman Circle Office Handwara.

Office Copy.